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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. This paper consists of 8 questions. |

3. Answer any five questions.

4. The marks for each question are written along with

the questions.

5. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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1. In developing countries, fertility rates continue to be
sticky and high, even in the face of falling death rates.
Analyse the various social and economic factors that
help in explaining the micro inertia of fertility rates at

the household level. (15)
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2. Development proceeds via the joint transfer of labour
and agricultural surplus from the traditional agricultural
sector to the modern industrial sector. Explain the

process with the help of suitable diagrams. (15)
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3. (a) Why is fixed rent tenancy considered to be a
more efficient contractual arrangement than
sharecropping? Explain using the concept of

Marshallian inefficiency in this context. (10)

(b) How can sharecropping contract be used as a

device to screen tenants? (5)

(37) for f 90 RRE &1 Seat & gor # AR
Wmmﬁwm%?wéﬁﬁ
ARG STEFT S SIEURYT T FART S §Y
=Xy

(=) maﬁﬁﬂmmﬁmﬁaﬁaﬁ‘@ﬁﬁﬁ%ﬁq
TEH TGO B ®T F DY AT ST Gl B 7

4. A prudent land reforms policy has the ability to
increase overall employment and output in the
economy. Elucidate the statement using the nutrition-

based model of labour market. (15)
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(a) What are the various possible forms of collateral

Ss
(2)

in the rural credit market?

(b) If a collateral is valuable to both the lender and
the borrower, derive the condition under which
there will be no default. Also specify, how can

credit be used as a veil for acquiring collateral?
(4,3)

(c) Assume that a moneylender from a remote village
can earn 20% rate of interest if he deposits
Rs. 10,000 in a nationalised bank, with no fear of
losing any of this money. However, alternatively
he can take a risky option and lend the same in
the informal market at a higher rate and thereby
earning a risk premium. For each of the case
below, calculate the minimum rate of interest that
this moneylender would be lending in the informal

market. Also, find out what is the risk premium in

each case.
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(1) With probability 'y that the loan will be
repaid with interest, probability /3 that only
the principal will be repaid, and probability

'/3 that the loan will not be repaid at all.

3)

(i1) With probability 2 the loan will be repaid
with interest, and with probability %4 the

loan will not be repaid at all. (3)
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6. What is the rationale of economic regulation in
general? Explain why command and contro] approach
dominates the policies for environmental regulation
worldwide when most economists believe economic

incentives are much better. (5,10)
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2008? What lessons does the crisis bestow upon the

jucidate how ignoring the structural fault lines

7' s ) . ] .
nifested itself into the Global Financial Crisis of

financial world? (15)
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8. Write short note on any two: (7.5 each)

(a) Positive effects of population growth on

development

(b) Impact of globalization on the poor as users of

public services and common resources

(c) Policies for development and environment

(d) Lender’s risk hypothesis
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